Math 21   Exam 2 (7.4-8.3)   OLD
Name ________________________________________

Part I:
CALCULATORS ALLOWED

Always show enough work to indicate how you arrived at your answer.  If work is not shown, you may not get full credit for the problem.
1.
The table below gives the rate Tom is reading ( in words per minute) at various times over a one hour interval. 
(10 pts.)

	time (minutes)
	0
	15
	30
	45
	60

	words per minute
	110
	195
	205
	180
	175



Estimate the total number of words read in sixty minutes using a trapezoidal sum with 4 subintervals.  

2.
Let I = 
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.  Find each of the following, rounding all answers to 6 decimal places.  



(20 pts.)


a.

[image: image2.wmf]20

L

 = ____________________

[image: image3.wmf]20

M

 = ____________________




[image: image4.wmf]20

T

 = ____________________

[image: image5.wmf]40

S

 = ____________________


b.
Use the Fundamental Theorem of Calculus to compute I exactly.  


c.
Find the actual error when 
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 is used to estimate I.


d.
Find the smallest value of n which would guarantee 
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3.
Find the centroid of the region bounded above by the curve 
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 and below by the x-axis.

4.
Explain why each integral is improper.
(4 points each)
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b.
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Error Bound Theorems

Let I = 
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Theorem 1.  Suppose 
[image: image15.wmf]2

()

fxK

¢¢

£

 on [a,b].

Then:
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Theorem 4.  Suppose 
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Part II:
CALCULATORS ARE NOT ALLOWED ON THIS PART.

5.
Give the form for the partial fraction decomposition for 
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6.
Evaluate each integral.  Use the table if appropriate.
a.
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b.
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7.
Find the length of the curve 
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8.
Find the surface area when the curve 
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9.
Use a limit and an antiderivative to evaluate the improper integral 
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10.
Use the comparison test to show that the improper integral 
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